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Math 12 Enriched: HW section?fiombined Transformalions

1. lndicate what the frnction r'= ./(r) will become after each transformation in the specified order:

i. n"rir""iii -ip-t." 
""aHorizontal Shift oF 3 lefts left

ou,u,tr0a"L )t...omg

reflection bv a factor of 3' 4-+ +d
a) 1. HorizontalShitt of 3 unlts lell 4>/'lt3

2. Horizontalexpansion and reflection by a factor 3

^ f/- -"r .n--k*

;iA;e;ticarc;;t;;;

reflectron over the x axis. Then a hori2ontal
comoression bv a factor of 0.25.qi*,, ,.^= ilf4l

l=f[-+d
:=l( +6,;D

Ot vur,ti*irl,id of e *it, ,p ;",i il;;;;.t*i
compression by a factor of 0or of 0.75 \r\-<

'e'e' iio[o1 bolfAr<i\. '1on d Hl of i ano VC ol 0 J.X+ a. +'5 -->5=+(x-o

Vertica sh ft of 8 unlts Lrp

by a factor of 0.75

J--t:)
J-'b-8

-:13=c[,.)

-t(e-t) +1"a.) -s&") -t
e) A verticalexpansion by a tactor of 2 6'nd then a i1 ,l r-'irontii 

'nirt 
oi: unitt i"ft 

""a 
z ,"irc ,l 1,""1

t=
-':l L^ - -J__. __ t !r -r=2. When two transformations are performed in 0rTlerent orders, wrll le result ng unction alwa he same

il- .",'. &
Srrr Aes t l"

^erla s'.r!

J t\)

or alvuays different? Explain:r, #,{i it i^ so**'*,, t"
-1."L 'f -*!c"" o t.{S .. V,S.
gt",^ - o. ' t{{. ". tl .(. &!.

1a. a.L 1L. is c" 9,d e(o-+

by% z=ir*
transform the functicn from

3. The tunction I V.. is hur zuntally expanded by a factor of 4. W th what VE/VC will result in the same

equation?

\\.e I r z.-+," r.JE =tra
\>

4. For what factor "K" will the transformation of 1, ,"./ (r)

, = y1 -s y =(1x)1 z

9="/- r_ \6aa.. +t=n" lru5. What is the kansformation reiluiie--cl'i7ronven r - (.r 3) +r'=,(.1r l2)' r
--r ;r= {6(ac -r)'solurig,r+l-. J- \,L-N= (r-r)"

_. tr" ,l;-"'1Tt. enf ct.>,,c-1 *(,,(.tc\,
l\1.(. \* r.,ta ! (,k.r,)'

o"
Name two different sets of

, .1
. (Y'lc-lr)

b=-r{(,0J
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-ld3 g= l6(,c-r)'



6. lndicate all the transformations thato$?equired to change from ,f = / (,y) to the equation givei

r3)

' f u:""5" lftri.s'.'i''"'\7r.'ul".f ''"n 
o(o€r' 

{ldt 
w'|rl

a) l*J ,x )." ?'l-t , 
4 l'Jl '\"4 4'

r-t(*^) ,__rr[+4) s=-r€

v, s -'\1-\J

)l).r'-12

*-o) |9=-l.{-t*-u) +rt-

/ (r) resuh lnr

[.s. 2L U.R \.1.S sD v"€- b -o I*!. .cJlori" v. s- q9

b) 1st) r-r2-.r 2d)y-+5 .), 3'd)-r()ir 4ti) y >yt4

)= C{'-'; s-|3-.@-*) s-t',-{o-,)

.. = { (r"r)
5=tG,'*'")
g= -ff2r.*,2)

5=-!f{aztrr)
1 - -${ez. trr)+ t

ct y=t: ] l{8.--zr)

lu.sll 
t 

ePo{ 3=l(z*e)
u.R. ;d u.c \\l ^ 

*a c= }(-urt)
v.Q. c^A v.c C! :--B r- ,#-,*,r)
v.(. \2(r / A-yrr 3=-e.(-,,!,c

I

d)-r=/(4r+1)
)

\ Lv,"qs?- ,efl€oh D,' or=$({ .

-= Ci6.t)
c""A3r.')

+"=|(qrit

y*c^)- z+i)

s? +3

)*

v.<. \D
v-c-\ t
Itl.C. k" a
\,

e)-o.ry = / (lx 4)+l
-!3 {a-"1ot

lU.i-r+R -i ./)4rl -,=fl2-.+\
lu..y+ I n-zn |=fr-'*t
l!,R "r v. l. u- e.a -e-3={2"*)
tVs--'1\t # v-yt -1r=t{u*)-

roit' r1= rfi*
tf".).$+.

,r)

.J
Tn"cs. .A-q., o.'
tJ.S. ro
v.6. \r 2
t\.c. \t
\\. c. \\) ,Z

1-p6-x+{) z=l(r)
b--" bt3 oct$r+)
u- *" ,,+(+..)
v-+; \."=CC+-

2,xn u--t t (*-| =[C

s-+4={(;;)
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o1 y = -i 7 1:,, * r:1* r

l-u"(. lli l/n*+ta
li u.c.5+l*-a*
llV.R. h'r



OJ

8.

1"w,,;ffi|'

Given rhe s,aph of r. /(x). ora.WeqTn "r,lti|E nctions: 
U -S. lR
uL !.

i, -"1

9. civen the graph of J' = .l (.t) on top, what is the equation of the corresponding graph below iti

ii;
1;,-

IR

b1
ID

.0,r)'(r,r).(1,-2\-(4a.)
o) .r,= / (Y-t-.t) ,-')-(?,").i'i:i?F.) (,,-"

5.)f q+ar i-

I

v,R.
i{,)-
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10. Point (e,f) is on the graph of r, = .r(i), what point must be on the fol owing functions:

r)

,)(

]-
*
0\

(r

L

)

.+'G

_1
4

)

s.
C-

r)

a)a)y

u"

v.(

Q,I,J

2R 1.-> 
^-j p=l(,r-+;

b -t u-*r y,{{("-r)

11 ay =.7110- +,)+ r

H S. toL z.+z*ro ',,l(zt,o)
UC b + a--+,"'"-|(-rz*o)
V-S. lU E) )-l r=[(-*z+ro)*t
v.e. b -+ u--?u -f.pJ(v,,ro)tt
$)d-,,/)--6rya1- $,P, \ ,(r*4, +{ +)

11. lndicate the transformation required to go from the left function to the right.

order:

List the transformation in

a) ),=Vx+y=V)- jjr

ll.s- 5L [ :c. z.s
tff*, \ra b5 f

b) r,=3' + -v = 4(3'*')- 6

Fl.( \L ? 2t-> x+\
U.c- h t- 'x.a'*-
v.E b { J--tC
V.S.6D 3>c*6

V.s. \D

(c. ' !)
(- ;rI

J= r

J ',r> J-o

(q -r, L)

i+,u)
/e:! . ,{ f\

5' \rn. * r"l
r= \$" t'al

5- r\t " 
-'rl

5= s \! n',e\ -r

.) r=16 tr=tz.f,--t:+tt
\.1.R. .t-)- o< c-i---*_ (;o,u)
U.s. roL %-'"r+(1 g. i:7-aa (-arr,b)
v.E- b l1 c>t) l=\c.Ja:v)- [ o.-1a,125)

V.e. (u 1r9i 
-3=re 176-'rt. C-a-r), \a!tr,

a1 y = l2r+ 1l-+.r., = 3l+i + l2l- r

U.s. +L n'- q**
q.E- 5 + a>+a
V.6. b 3 9+\

!> t+l

/- $ .rJ

(+ +,b)
(+-P.rt)
(i-+' tt-')
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.r.= / (.r I 5) ?

12. The domain and range of y = / (r) is D : {-y > 4}& R : i., > 0}

R*r" L", . ,* .-l*..
horzlnr,l slnb :^\.

n") S"oz-

:^1". -
i. +,LJ <

0, oL> -\
R, g> o

13. Part of the graph for y = /(-r) is shown, 0 < r < 2. lf .q (-r + 2) =

theBraphof B(x) forthelntervals -2<-r<0 and 2<r<6.

What is the domain and range for

(\r&- € @e Pa-*.'*15 ''
ldt , r>, L"-^ gn" .s 

rel' .s."ll.

] I (-r) ror att reat uatues of "x", draw

g(oc<)+ 5t.)-r,f(+a)9L-> 'x--a

14. Charlenge: ir r=l thenrhevarueorthep.o,.,, 1,1 ,11,i,11( -ll), . fuieJ. '(,lll'-) .
2 - 2r . what is the value of "k"? -, .,.,

(, +) (" +xr. f)(.- +Yl.r +J(\. +Yr*+)(l. *i = " "'I,oK FOR I|--LIfi<l, OLPF€R€NC? cF soUAQc:I

t u-,
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V.c.\ I
\.{-(. .lYr -

$('*1X"$ (r.$ +(",')
t -s +(, ,9

(

l.= -2.<

J=lf")'-.-
V.\. 5l /)L-,(:;

"J,,u
(r) -,56-l)

'(r-ro)(D


